Тесты по контроллингу  на английском языке

1. Controlling - is:
a) The instrument by which the budget of the enterprise.
b) + tool of strategic and operational management.
c) The instrument with which to make management decisions.
d) The process of management accounting in the enterprise
e) The legal framework for the implementation of key management functions.
 
Two. Controlling provides:
a) Methodological basis for the implementation of key management functions.
b) the information base for the implementation of key management functions.
c) The legal basis for the implementation of key management functions.
d) + methodical basis for the implementation of key management functions. Information base for the implementation of key management functions. The legal framework for the implementation of key management functions. e) The process of management accounting in the enterprise
 
Three. What is the purpose of controlling:
a) Implement management accounting in the enterprise.
b) + Analyze all incoming information.
c) Achieving all goals set by the organization.
d) Calculation of key indicators
e) The information base for the implementation of key management functions.

4. What are the controlling elements:
a) Information provision across the enterprise.
b) + Analysis and coordination across the enterprise.
c) The organization of management accounting in the enterprise.
d) The current analysis
 e) Achievement of the objectives of the organization.

Five. How is the controlling of management accounting:
a) Management accounting is part of the controlling.
b) Controlling is a part of management accounting.
c) + controlling and management accounting are independent
from each other.
d) The essence of management accounting and controlling one, but the names are different.
e) Plan
 
6. The purpose of the administrative decision is:
A) Acceptance of a manager solutions to meet obligations arising from their office.
b) Adoption of the correct management decision.
c) + Achieving these goals to the organization.
d) Meeting the needs of employees.
e) Cost Accounting
 7. The most common need for controlling of experience:
a) Corporation.
b) Small-scale enterprises.
c) + Large company.
d) Joint-stock companies
e) NTO
Eight. What factors controlling the organization depends on the company:
a) From the desire to head.
b) + From the organization of management accounting in the enterprise.
c) From the organizational structure.
d) From the information flows within the enterprise.
e) From external information flows. 9. Information - that:
a) The data system.
b) The resource of the enterprise.
c) + data screened for a particular situation.
d) Knowledge.
 e) Study
10. What are the sources of information:
a) Internal sources.
b) External sources. c) + Internal sources. External sources.
d) Indirect sources.
 e) Direct
11. What is referred to as external sources of information:
a) Regulatory and legislative acts.
b) Intercompany electronic document.
c) + information on competitors and their activities. Regulatory and legislative acts.
d) Information about the current costs of the enterprise.
 e) Competition

12. What is referred to as internal sources of information:
a) Regulatory and legislative acts.
b) Intercompany electronic document.
c) Information on competitors and their activities.
d) + information on current costs of the enterprise.
 e) Laws

13. What information is the role of leader in the
its activities:
a) Receiver information.
b) Information Gatherer.
c) the Distributor information.
d) + Receiver information; Distributor information representative of the outside world. Decision-makers
 e) The Secretary of

14. The set of economic and political actors outside the enterprise - is:
a) The internal business environment.
b) Macro.
c) microenvironment.
d) + external environment.
 e) Setting

15. Relations in the team, defining the saturation of the infor-
mation and the intensity of communication flows - is:
a) + Internal business environment.
b) Macro.
c) microenvironment.
d) The correct answer is no.
e) Contact Us

16. The main resource for the growth of productivity of the enterprise - is:
a) Managerial Accounting.
b) Information.
c) + controlling.
d) Initial documentation enterprises. e) The internal business environment.

17. Controlling service must have:
a) + Ability to make management decisions.
b) Ability to obtain information from all subsystems of the control system.
c) Ability to implement new procedures for the collection of analytical data.
d) All of the above is correct.
 e) Management Accounting.

18. What is the main task of controlling?
a) Collection of information.
b) Analysis of the information.
          c) + Collecting and analyzing information. Control of industrial activity.
d) Implementation of tasks.
 e) Management Accounting.

19. Who reports directly to the service of controlling:
a) + Top management of the organization.
b) the Finance Director.
c) Chief Accountant.
d) Chief Chief of Planning and Economic Department.
 e) The Committee

       20. Why is a component of the controller is controlling, the curator:
a) + Since it is necessary to collect information from all subsystems of the control system.
b) To tighten control over the elements of the control system.
c) To control costs.
d) To monitor the quality of products (works, services).
 e) To manage the staff

21. Who forms part of the service of controlling:
a) + senior management.
b) The chief engineer. c) Financial (Commercial) Director.
d) Chief Accountant.
e) Subordinate

22. Who is a component of controlling:
a) Head of Controlling.
b) Controller - curator of plants.
c) an analyst with the Economic Planning Department.
d) controller entry specialist in information systems.
e) + Head of Controlling. Controller - the curator of plants.
   An analyst from the Economic Planning Department. Controller entry specialist in information systems. Controller - Management Accountant.
  
23. Controller - is:
a) pilot, a leading ship - an enterprise for profit;
b) generalist;
c) Accounting Officer;
d) CEO.
e) + Controller - Management Accountant.
 
24. Head of Finance - Economics Department serves as:
a) marketing;
b) the manager;
c) + controller;
d) the financier.
e) Controller - Management Accountant.
 
25. The function of the treasurer in the company carries out:
a) the controller;
b) an accountant;
c) + a financier;
d) Manager.
 e) Controller - Management Accountant.
26. The functions of the controller and financier implemented:
a) parallel;
b) have no relation to each other;
c) intersect;
d) + related.
 e) Controller - Management Accountant.

27. Which of the following principles are best suited for the formation of a functional organizational structure:
a) Group;
b) + function;
c) functional - group;
d) converting.
e) Staff
 
28. How important is the location of the controller functions in the structure of the company:
a) minor;
b) + center;
c) not make any difference;
d) distinctive.
 e) Management Accountant.

29. What needs to controller:
a) an external management accounting;
b) the internal management accounting;
c) in the planning system;
d) + a clear definition of their functions.
e) planning, management accounting.
 
30. What is the method of calculating the amounts of coverage:
a) Management Information System;
b) management accounting;
c) type of plan calculations;
d) + profit sharing scheme.
 e) Information
  
31. Which of the following is included in the special responsibilities of the Comptroller
a) the conservation of the property complex of the enterprise;
b) + implementation of the ongoing monitoring of costs;
c) management of the enterprise;
d) financial management in the enterprise. e) controller, its functions and duties
 
32. The leading role of the controller is selected in the following divisions:
a) + Board of Directors;
b) Accounting;
c) planning group;
d) Commission on prices.
e) Do not know.
 
33. Does the office of the controller in the pricing of implementation:
a) + yes;
b) no;
c) in part;
d) Do not know.
e) The main areas of marketing activities and policies.

34. True or False: "Marketing and Controlling contradict each other":
a) yes;
b) + no;
c) more likely than not;
d) Do not know
 e) The main areas of marketing activities and policies.

35. Which of the following tasks are dominant in the controller:
a) setting goals;
b) economic calculations;
c) + planning and management;
d) Develop strategies.
 e) The main areas of marketing activities and policies.
 
36) Controlling marketing - is:
a) information support effective management of customer satisfaction;
b) + system of the organization controlling the results of marketing activities of the enterprise;
c) the process of planning, coordination and control associated
companies with market activity.
e) The main areas of marketing activities and policies.
 
37) Controlling marketing subsystem includes:
a) monitoring and auditing;
b) + planning, organizing and carrying out the measurement process, audit and evaluation of the concepts, strategies and marketing plans;
c) the effectiveness of management actions to achieve strategic and tactical marketing purposes.
 e) The main areas of marketing activities and policies.

38) Marketing mix - is:
a) A set of marketing tools through which the company affects the demand for goods produced by them;
b) + specific combination of marketing tools to achieve business goals;
c) the main areas of activity and policy marketing.
 d) methodological support to management.
e) The main areas of marketing activities and policies.
 39. Controlling Strategic marketing includes:
a) + strategic planning and control;
b) Formation and control of pricing policy;
c) Establishing and monitoring of communications policy.
d) methodological support to management.
 e) The main areas of marketing activities and policies.

40) Operational Controlling marketing includes:
a) the formation and control of pricing policy;
b) Formation and control of communications policy; c) strategic planning and control;
d) methodological support to management.
e) + main areas of policy and marketing.

41. What are the objectives, portfolio analysis:
a) + management strategies with respect to certain products and markets;
b) aid in the rational allocation of scarce resources among the various divisions of the enterprise;
c) Assistance in the rational allocation of scarce resources among the various commodities markets on which it is distributed
d) a comparative analysis. e) The main areas of marketing activities and policies.
division.
 
42. Comparative analysis - is:
a) + Analysis of the causes and factors affecting results of operations;
b) an analysis of the actual deviations from the planned development of the situation;
c) To analyze the effectiveness of interventions in the field of marketing.
d) a comparative analysis. e) The main areas of marketing activities and policies.
 
43. Calculation of the profit margin - is:
a) analysis of the causes and factors affecting results of operations;
b) + analysis of the effectiveness of marketing activities;
c) analysis of the actual deviations from the planned development of the situation.
d) a comparative analysis. e) The main areas of marketing activities and policies.
 
44. GAP-analysis - is:
a) analysis of the causes and factors affecting results of operations;
b) analysis of the effectiveness of interventions in the field of marketing;
c) + variance analysis of actual developments of the plan.
d) a comparative analysis. e) The main areas of marketing activities and policies.
 
45. Which of the tools used operative controlling of marketing:
a) Calculation of the margin of profit;
b) + portfolio analysis;
c) GAP-analysis;
d) a comparative analysis. e) The application controlling.
 
46 ... Logistics - is:
a) + the science of planning, controlling and regulating the movement of material and information flows in space and time from its original source to final consumer;
b) the planning, management and control fed to
Business flow of material goods;
c) a scientific discipline on the management of flows in systems.
d) production facility;
e) The main areas of marketing activities and policies.
 
47. The concept of logistics - is:
a) new methods and technologies for delivery of goods;
b) + belief system to streamline business operations;
c) optimization of the flow processes.
d) production facility;
e) The main areas of marketing activities and policies.
 
48. By the operational logistics functions include:
a) Managing the movement of products from suppliers to manufacturing enterprises;
b) analysis of the needs for material resources of various
phases and parts manufacturing;
c) + operational planning, dictated by the desire to
reduce inventory, without reducing the effectiveness of the company.
d) production functions;
e) The main areas of marketing activities and policies.
 
49. By coordinating logistics functions include:
a) + motion control products from suppliers to manufacturing enterprises;
b) analysis of the needs for material resources
c) operational planning
d) the production of motion;
e) The activities and policies of marketing.
 
50. The main task of controlling logistics:
a) + to ensure the company's management information necessary,
sary for decision making in the field of logistics;
b) Implementation of this control efficiency pro-
processes of storage and transportation of material resources;
c) Identification of the needs of departments and enterprises in
Overall, materials, semi-finished products and components. d) Inventories;
 e) The main areas of marketing activities and policies.

51. Main place of costs:
a) taking the place of materials and supplies;
b) the front yard;
c) the system of transportation resources to the enterprise;
d) + production facility;
e) packing plant;

52. In the control efficiency controlling:
a) + to generate optimal strategies, provision
divisions of the company materials;
b) is intended to develop recommendations for managers
different levels as to achieve the optimum combination of cost;
c) calculates the optimal structure of a network of distributors
and selects the most appropriate storage system.
e) the finished goods warehouse.
 e) packing plant;

53. Costs are broken down into:
a) + constants, variables
b) plan;
c) variables.
e) the finished goods warehouse.
 e) packing plant;

54. The main methods of orders are:
a) + Method of orders by a certain date;
b) sending the order to the selected vendor;
c) a method of forming the rhythms of order.
e) calculates the optimal structure of a network of distributors
and selects the most appropriate storage system.
e) Controlling Application

55. Controlling logistics:
a) + provides information support for decision-
tions that are essential for achieving the objectives of the enterprise;
b) allows us to calculate the planned costs are determined on the basis
leniya planned use of reserves for certain
planning purposes;
c) deals with the calculation of costs based on a system-oh
quilted works.
e) Financial Controlling
e) Controlling Application
 
56. The main objectives of financial management:
a) + maintain profitability;
b) the active management of financial processes;
c) To ensure solvency. e) calculates the optimal structure of a network of distributors
and selects the most appropriate storage system.
e) Controlling Application
 
 
57. Financial Controlling - is:
a) + Provide guidance information on the state board-
solvency, its dynamics and trends;
b) a set of techniques aimed at improving the record-
policy and the management practices of the enterprise;
c) a complex area of ​​science, covering issues
cash flow management in the enterprise.
e) calculates the optimal structure of a network of distributors
and selects the most appropriate storage system.
e) Pre-controlling
 
58. In accordance with its function of financial service
Controlling provides:
a) participation in forming the sources of funding;
b) drawing up the current control plan;
c) + control key financial indicators;
d) To ensure the liquidity of the enterprise.
 e) Short-term planning tools

59. Financial controlling tasks:
a) To maintain liquidity reserves;
b) + to ensure the solvency of the enterprise;
c) Harmonization of financial and in-process accounting;
d) budgeting.
 e) Short-term planning tools

60. The aim of the structural maintenance of liquidity:
a) + partial coordinate the basic and long-term invest-
vestment plans;
b) maintain a balanced capital structure
c) Ensure that the company has used the most appropriate short-term planning tools.
 e) Short-term planning tools

61. The purpose of this liquidity support:
a) + maintain a balanced capital structure
b) Coordinate basic partial and long-term invest-
vestment plans;
c) the company has used the most appropriate short-term planning tools.
 
62. The purpose of maintaining liquidity reserves:
a) + long-term basis to coordinate the invest-
vestment plans;
b) maintain a balanced capital structure to
organization to provide additional
financial resources;
c) Ensure that the company used the opti-
mal short-term planning tools.
 d) budgeting.
 e) Long-term planning tools

63. Financial control includes:
a) assessment of the feasibility of plans;
b) To find the additional funds placement opportunities;
c) adjustment of the plans;
d) + balance sheet analysis;
e) Improving the quality of the plans.
 
64. Financial Controlling Instruments:
a) analysis of payment flows;
b) + Comparison of levels of profitability;
c) financial "web";
d) Time comparison of balance sheets;
e) Evaluate the cost of capital.
 
65. Analysis of working capital shows:
a) what proportion of the working capital used to cover
long-term liabilities;
b) + what proportion of constant capital used to cover
long-term liabilities;
c) what proportion of the working capital used to cover
short-term liabilities;
d) what proportion of constant capital used to cover
short-term obligations.
 e) Short-term planning tools
 
66.Kontrolling investment - is:
a) + Service areas of investment activity;
b) decision-making process for choosing the preferred
investment projects;
c) monitoring the effectiveness of the investment project. d) budgeting.
 e) Short-term planning tools
 
67. Classification of investments in facilities:
a) financial investments;
b) + short-term investments, financial investments, industrial investments
c) industrial investment.
d) what proportion of constant capital used to cover
short-term obligations.
 e) Short-term planning tools

68. Classification of investment objectives:
a) the actual investment;
b) compensation for investment;
c) + investment to expand production, the actual investment;
   investments to recover.
d) Time comparison of balance sheets;
e) Evaluate the cost of capital.

69. Problems controlling investments:
a) budgetary control of the project;
b) + monitor the implementation of investment;
c) Verification and monitoring of investment applications;
d) To coordinate information.
e) budgeting.

70. For static methods the investment calculation include:
a) The method of annuity;
b) method of estimating the cost of capital;
c) the method of calculating the cost-effectiveness;
d) + method is shown on the income.
e) budgeting.
  
71. By the dynamic investment calculation methods include:
a) The method of annuity;
b) method of comparing the costs;
c) the method of comparing the profits;
d) + method for calculating cost-effectiveness.
 e) budgeting.

72. Value analysis - is:
a) a method based on a subjective assessment of the technical features of comparable projects;
b) + method, pointing to possible ways of improving the cost performance;
c) a method for increasing the useful effect of the object per unit of total costs for its life cycle;
d) Method of determining the value and other characteristics of products, services and customers. e) budgeting.
 
73. List the basic steps of Value
analysis:
a) diagnostic, analytical, research, promotional;
b) preparatory, creative, analytical, advisory, implementation, operational;
c) + preparatory, informational, analytical, creative, research, advisory, promotional.
 d) The principle balance approach.
 e) budgeting.

74. On what principles is based conduct activity-based costing:
a) The principle of the dialectic;
b) The principle of the functional approach;
c) + principle of dynamic approach;
d) The principle balance approach.
 e) budgeting.

75. At what stage of the activity-based costing make the final selection of workable solutions to the investment management process:
a) the research stage;
b) + its advice on the stage;
c) at the implementation stage.
 d) The principle balance approach.
 e) budgeting.
 
76. Innovation - is:
a) + now produced a new product or service, or
the use of methods or tools that are new to him, and make technical changes;
b) a unit of technological change;
c) a new scientific and organizational combination of production factors, motivated by an entrepreneurial spirit.
 e) grant.

Of 77. In the process of innovation management pre-
acceptance are the following types of risks:
a) critical;
b) dynamic;
c) + Technology;
d) quality. e) budgeting.
 
78. The specific objectives of controlling innovation:
a) + execution of all processes for the introduction of new technical
thinking;
b) assistance with strategic and operational planning
program innovations;
c) strategic planning for the general budget of innovative projects;
d) Allocation of budget for some innovative projects.
 e) The principle of the balance sheet approach.

79. The process of controlling innovations include:
a) orientation to the goal using established intermediate objectives;
b) control the timing of implementation and results;
c) + evaluation and financing of innovation in the field;
d) selecting and monitoring indicators.
 e) budgeting.

80. Signs of innovation as a separate project:
a) Innovation is not limited to the budget;
b) + innovations are associated with novelty and regularity of conduct;
c) the innovation process can not be separated into phases;
d) innovation inherent complexity and poor structuring.
e) NTO

81. Methods for controlling the inclusion of services in the organizational
structure of the enterprise:
a) a linear structure;
b) + functional structure;
c) a centralized structure;
d) linear-functional structure.
e) The project
 
82. Tools controlling innovation:
a) the time of the product;
b) Establishment of the product cost for each employee;
c) + internal rate of return;
d) Present value of income.
e) R & D
 
83. Controlling Division:
a) + is developing an implementation plan of controlling;
b) Provide the project team methodology and tools
planning; c) does not develop forms for planning and supervision
the project;
d) Not following the progress of the project.
e) R & D
 
84. For innovative projects, lasting 1-2 years, the current
control is carried out:
a) 1 time per month;
b) + 1 times in the quarter;
c) a half-yearly;
d) a once a year.
 e) R & D

85. The controller receives information about trends
by:
a) + comparisons within the enterprise with those of other enterprises;
b) comparison with those of other companies over time;
c) comparison of performance across the enterprise for
time.
d) Not following the progress of the project.
e) R & D

86. The process of setting deviation from the values ​​and actions of people in economic activities, ie process for achieving strategic goals - it is:
A) + control
B) Planning
C) co-ordination
D) Promotion
E) disposal of

87.Kontrol exercised prior to the actual work is called:
A) Current
B) the final
C) is effective
D) the final
E) + pre-

88. The most difficult and costly element of control -
(A) the choice of standards
(B) the choice of appropriate units of measurement
(C) selection criteria
(D) + measurement results
E) selection of staff

89. The control system in an organization usually consists of
(A) + prior, current and final
(B) of the current and final
(C) of the preliminary and final
(D) only the current control
E)) of the current, pre-

90. The most difficult and costly element of control -
(A) the choice of standards
(B) the choice of appropriate units of measurement
(C) selection criteria
(D) + measurement results
E) selection of staff

91. The control system in an organization usually consists of
(A) + prior, current and final
(B) of the current and final
(C) of the preliminary and final
(D) only the current control
E)) of the current, pre-

92. What type of planning used in production systems with a continuous process?
(A) of operational functional diagram
(B) a fixed positional scheme
(C) + linear threading scheme
(D) and position circuits of operational
E) matrix scheme

93. Preliminary review with respect to human resources is carried out?
A) + through a careful analysis of business and professional skills and knowledge of man, by determining the level of education, by determining the length of service
B) through a careful analysis of business and professional skills and knowledge of human
C) by determining the level of education
D) by determining the length of service
E) at the expense of the LLP

94. Due to what is pre-control with respect to human resources?
A) by a careful analysis of business and professional skills and knowledge of human
B) by determining the level of education
C) by determining the length of service
D) + at the expense of a thorough analysis of business and professional skills and knowledge of man, by determining the level of education, by determining the length of service
E) all of the above is false

95. Which indicators of profits of the enterprise depends
A) From competition and inflation
B) the price of the product and production costs
C) + From the supply and demand
D) from the tariff system and level control
E) from the pay and pension transfers

96. Costs of production and sales are
A) the valuation used in the production process, as well as the costs of its production and sales
B) The full amount of receipts from sales of marketable products, services and wealth
C) The amount of depreciation on the full restoration of basic production assets
D) The end result of industrial or business enterprises
E) Analysis of turnover of assets

97. At the cost of production and sales of products includes the costs associated with:
A) The use of natural resources
B) The preparation and development of production
C) Training and retraining
E) provision of normal working conditions
E) All answers are correct

98. Gross income - a measure of:
A) The amount of fixed and variable costs
B) + The indicator on the end result of industrial or business enterprises
C) A mixed form of income of large and small businesses
D) The set of tools used by people to achieve the desired profit
E) Price of labor involved in the production process

99. "Social contributions" reflect:
A) + taxes, fees, contributions to the special social funds, payment of communications services
B) Deductions based on their book value and the established norms
C) Payments in accordance with established standards bodies and non-state social insurance
A) Labor costs
E) Amounts in this period does not depend on the size and structure of production and sales

100. The costs include only ...
A) Gross expenditure
B) Fixed Assets
C) Depreciation
A) Variable costs
E) Fixed costs

101. Evaluation and monitoring implementation of the strategy are:
A) Evaluation of the internal environment of the firm
B) a clear action plan to implement the strategy
C) is logically completing the process carried out in the strategic planning
D) a tool by which management decisions are grounded in economic activity
E) + a set of procedures and solutions to help enterprises, a strategy

102. The analysis, which is an estimate of the internal environment of the firm, as well as external opportunities and threats?
A) SWUT
In) + SWOT
With) SWIT
D) SWET
E) SWYT

103.Ot any two indices depends profits of the enterprise
A) From competition and inflation
B) + From the prices of products and production costs
C) from the demand and supply
D) from the tariff system and level control
E) from the pay and pension transfers

104.Izderzhki production and sales are
A) + valuation used in the production process, as well as the costs of its production and sales
B) The full amount of receipts from sales of marketable products, services and wealth
C) The amount of depreciation on the full restoration of basic production assets
D) The end result of industrial or business enterprises
E) Analysis of turnover of assets

105. At the cost of production and sales of products includes the costs associated with:
A) The use of natural resources
B) The preparation and development of production
C) Training and retraining
E) provision of normal working conditions
E) + The use of natural resources. Training and development of production. Training and retraining of personnel. Ensuring the normal working conditions.

106. Gross income - is:
A) The amount of fixed and variable costs
B) + The indicator on the end result of industrial or business enterprises
C) A mixed form of income of large and small businesses
D) The set of tools used by people to achieve the desired profit
E) Price of labor involved in the production process

107. In the section entitled "Social contributions" are recognized:
A) Taxes, fees, contributions to special funds, payment of communications services
B) Deductions based on their book value and the established norms
C) + Contributions in accordance with established standards bodies and non-state social insurance
A) Labor costs
E) Amounts in this period does not depend on the size and structure of production and sales

108. The costs include only ...
A) Gross expenditure
B) Fixed Assets
C) Depreciation
D) + Variable costs
E) Fixed costs

109. Fixed costs determine:
A) + amounts that do not depend directly on the size and structure of production, as well as from sales of products
B) The variable portion of indirect costs
C) of the Pension Fund Contributions
D) Payments of health insurance as a percentage of wage employees
E) Payments on loans within the prescribed rates

110. Costs of the company in a situation where the production and sale of products for some time completely stopped
A) primary
B) + Residual
C) the current
D) Planned
E) Risk

111. The costs for the resumption of production and sales?
A) Depreciation of fixed assets
B) Production
C) Residual
D) Social
E) + Start

112. Variable costs include:
A) + costs, the total value of which depends directly on the volume of production and sales,
B) Direct costs
C) product quality
D) firms for joint production of final products
E) The cost of production

113. The amount of fixed and variable costs of
 A) piecework payment
B) time wage
C) The payment of labor
D) + Gross costs
E) marginal cost

114. In the group of the costs of cost items included: ...
A) Materials
B) The fee for rental of premises
C) + Materials. The fee for renting the premises. Wages. Depreciation.
A) Remuneration
E) Depreciation.

115. Wages of workers and administrative staff?
A) Piecework payments
B) Income Tax
C) + Wages
D) time payment
E Pension transfers

116. Wages, enabling workers to greater elaboration - is:
A) + Piecework payment
B) Bonus
C) Payment by results
D) Payment for time
E) is a mixed payment

117. The monetary cost of wear and tear, through the gradual transfer of value for the products during the period of regulatory services - is:
A) Liquidation
B) The cost of fixed price
C) Balance the costs
D) Current expenses
E) + Depreciation and amortization
 
118.Kakoy income is the aggregate of all income?
A) Gross income
B) Personal income
C) The aggregate public revenue
D) + National Income
E) Naturally the real income

119. Public expenditures are made through the system
A + State spending
B. State Revenue
C. Financial costs
A Financial income
E) Due to non-cash

120. The average cost growth or cost reduction per unit of output. Which costs are we talking about?
A. The costs of economic elements
B. Gross costs of the enterprise
C. Variable costs
D. Marginal cost +
E Fixed costs

121. Expenditure on economic development are:
A. The financial resources of society
B. Income from paid services and increase their effectiveness
C. Special funds of budgetary institutions
+ D. The funds allocated for the creation of conditions for sustainable growth in output and increase its effectiveness
E. Financial resources of the private sector.
 
122. Capital expenditure - is:
A. The internal contents of the subject, which is expressed in the unity of all its diverse forms of life
+ V. The set of costs of material, labor and financial resources allocated for expanded production of fixed assets of all sectors of national economy
C. The set formed by the special funds and trust funding
D. There is no right answer
E Purchase of securities

123. Costs of production and sales are ...
A + valuation used in the production process, as well as the costs of its production and sales
B. The full amount of receipts from sales of marketable products, services and wealth
C. The amount of depreciation on the full restoration of basic production assets
D. The end result of industrial or business enterprises
E. Definition profitability of the enterprise

124. Increase in working capital is funded by:
A system of financial and budget plans
B. Cash Funds
C. The gross national product
D. raising funds to cover losses
E. + Own funds of the company or gain

125. What are the principles of financial support for scientific - technical progress?
A + multiplicity and goal orientation
B. Basic and applied research
C. The scientific and progressive
D. The social interests.
E. The economic and social interests
 
126. Costs of the company - is
A. Economic and social interests
B. Costs associated with the production and sale of products (product cost)
C. A negative exchange rate difference
D. paid fines and penalties for non-contractual obligations
E) + Costs associated with the production and sale of products (product cost). A negative exchange rate difference. Paid fines and penalties for non-contractual obligations.

 127. Items of income of the company:
A. Proceeds from the sale of goods manufactured
B. Dividends, interest gains
C. Income from sale of property
D. Write-off of debts
E) + Proceeds from sale of products. Dividends, interest gains. Revenue from sale of property. Write-off of debts.

128. Cost-effectiveness - is:
A.Ponyatie characterizing the mobility of the assets of the enterprise, which should provide trouble-free payment term credit and financial commitments and cash requirements
+ V. The effectiveness of production - economic activities of enterprises
C. The rate of turnover of current assets within a certain period
D. The ratio of the most liquid assets, to the most urgent obligations
E. The value of income of all business entities
 
129. Liquidity - is:
A. Efficiency of production - economic activities of enterprises
+ B. The concept of characterizing the mobility of the assets of the enterprise that must provide uninterrupted payment within the credit and financial commitments and cash requirements
C. The income of all business entities
D. There is no right answer
E. Rate of turnover of current assets over a period of
 
130. Methods of calculating the overall profitability
A.Pribyl / Equity
B. Income / Fixed Assets
C. Profit / Current assets
D. Gain on sales / cost of sales
E. + Profit / Assets
 
131.Kak calculated return on equity capital?
A + Profit / Fixed Assets
V. Profit / Current assets
C. Income from sales / cost of sales
D. Income / Assets
E.Pribyl / Equity

1 32. Costs include the development of business plans
A.Postoyannye
V.Peremennye
C + Alternative
D. Limit
E. The costs of cost items

133. The resumption of production and sales includes the costs?
A. Depreciation of fixed assets
R + Start
C. Residual
D. Social
E. Production

134. The residual value - is:
A + This is the value of assets being retired or recognition unfit for use (for use)
B. The internal contents of the subject, which is expressed in the unity of all its diverse forms of life
C. The set of costs of material, labor and financial resources allocated for expanded production of fixed assets of all sectors of national economy
D. The set formed by the special funds and trust funding
E. Purchase of securities.

135.Ugrozu environmental factors may be:
A) the introduction of a competitor improved product
B) the emergence of cheaper technologies
C) + entry of new competitors' products at low cost
D) the introduction of a new rival product
E) unfavorable policies of government regulation and fluctuations in the declines in business activity levels

136.Chto can be attributed to the potential weaknesses of the company?
A) + availability of financial resources, leadership on the "experience curve"
B) the availability of financial resources, leadership on the "demand curve"
C) the availability of financial resources, leadership on the "sales curve"
D) the availability of financial resources, leadership on the "supply curve"
E) the availability of financial resources, leadership on the "curve"

137. List the common methods of forecasting
A) Methods of peer assessment, extrapolation techniques, methods, regression analysis, methods of economic and mathematical modeling
B) Methods of accounting methods of profit margin, the methods of comparative calculations
C) A mathematical method, the financial method, the combined method, synergistic methods
D) Methods of peer review
E) + peer review methods, the methods of extrapolation, regression analysis methods, methods of economic and mathematical modeling, accounting practices, methods, profit margin, the methods of comparative calculations, mathematical method, the financial method, the combined method, synergistic methods

138.Kak is a tool by which management decisions are grounded in economic activity?
A) the development of strategic planning
B) Analysis of strategic planning
C) + Method of Strategic Planning
D) the strategic planning process
E) Coordination and regulation

139.Chto of the following is related to the potential external threats?
A) the ability to enter new markets
B) the emergence of cheaper technologies
C) the introduction of a new rival product
D) + entry of new competitors with lower costs
E) adverse changes in foreign exchange rates

140.Ponyatie "Transaction" is the cost -
A) + the cost of searching for a buyer
B) the costs of searching for the seller
C) the negotiation on the subject of the transaction
D) the costs of searching for goods
E) payment of consultants
                                                           
141.Nazovite correct the main factor that may influence the choice of a strategy of diversified growth:
A) gives the excess of current business needs of receipt of the money that can be profitably invested only in other industries
B) Develop and review strategic alternatives, the choice of strategy
C) must have a clear plan of action to implement the strategy
D) The ability to identify the need for change in the firm
E) + ability to develop a strategy for change and development policy of diversification

142.Kakoy of the following types are not related to the strategy of concentrated growth?
A) Strategy to strengthen the market position
B) Strategy for Development of Marketing
C) product development strategy
D) + horizontal diversification strategy
E) Growth Strategy

143.K what strategy the company uses when it wants to improve their product or make a new start, without changing the industry?
A) + a strategy of diversified growth
B) a strategy of concentrated growth
C) Reduction Strategy
D) integrated growth strategy
E) strategy to eliminate

144.V which case the strategy is implemented diversified growth?
A) + when the firm can not continue to grow in this market with this product in the industry
B) when the firm wants to improve their product or make a new start, changing the industry
C) when the firm is in a strong business
D) when the firm observes the downturn in the economy
E) when the firm can not work with suppliers

145.V What is the strategy of market development?
A) in the growth of the company through the acquisition of, or gain control of the structures located between the firm and the end user
B) + in the search for new markets for the manufactured product is
C) when it appears in a state of saturation
D) in the implementation of the already mastered by the market
E) is in need of money receipt

146.Perechislite types that relate to the reduction strategy:
A) The strategy of market development, product development strategy
B) horizontal diversification strategy, a strategy to strengthen market position
C) the current business, the markets for the ongoing business
D) a strategy of backward integration, the strategy of diversification konglomerativnoy
E) + strategy to eliminate the strategy of "harvest"

147.K what strategy the company uses when it is in a strong business?
A) The strategy of concentrated growth
B) a strategy of diversified growth
C) + integration strategy of growth
D) Reduction Strategy
E) strategy to eliminate

148.K individual expert assessments include:
A) The morphological method, similar to the method of focusing
B) The method of "commission" method of "brainstorming," Delphi technique
C) The method of moving average, exponential smoothing method
D) The method of historical analogies, the method of the tree of life, the method of cross-impact
E) + scripts, the method of "interview", analytical memoranda

149.V What is the basic idea of ​​the strategy to reduce costs?
A) + in the search for opportunities to reduce costs and implementation of appropriate measures for cost reduction
B) in need of money receipt
C) on the application of planning and management decisions, level of centralization
D) in the absence of receipt of money
E) in search of potential buyers

150.Predopredelenie future, active way to build the desired model and the intended future state of the economy, while establishing ways, ways, means and time frames for achieving these objectives and planned state - is:
A) + prediction
B) Planning
C) the purpose
D) state planning
E) the problem

151.Chto of the following is not a plan?
A) + socio-political control over the economy and control through various political institutions
B) assessment of the economy at any given time
C) assessment of trends in the development of spontaneous
D) Assessment of the amount of resources expended
E) the projection of the future desired economic level, and use all necessary means to achieve goals

152.Kakoy principle operates in the distributed form of control?
A) + minimal sufficiency
B) economic sufficiency
C) the sufficiency of the maximum
D) the adequacy of strategic
E) the base adequacy

153.Strategicheskoe planning at the macro level is ...
A) an indispensable tool of economic management
B) is an essential tool of financial management
C) is an essential tool of strategic management
D) + a necessary tool of macroeconomic management
E) is a necessary tool to market economy

154.Na than it should be based planning?
A) on the application of planning and management decisions, level of centralization
B) on the application of objective laws of development of relations of production determine the structural and qualitative changes in the economy
C) + on the application of scientific forecasts, targeted programs, and balance calculations, and methods of optimizing planning decisions
D) on the use of targeted social, economic, scientific and technical programs
E) on the use of facilities of national purpose, international projects, development and production of main types of defense equipment

155.Osnovnye efforts in the area of ​​structural reforms should be aimed at the solution, what tasks:
A) Demand
B) + satisfaction at an acceptable level, the most urgent needs of the population
C) to ensure sustainable employment
D) to create the necessary conditions for investment activity
E) of demand, supply

156. Any organization created for a purpose, and by their nature they are divided into:
A) economic and non-economic
B) market and not market
C) Financial and non-financial
D) social and social
E) + production and manufacturing

157. What is the purpose of business organizations?
A) Loss
B) to raise funds
C) investment
D) + profit
E) foreign investment

158. Select the correct direction, which is used for the analysis of strategic data bases:
A) the internal environment of the organization
B) the central environment of the organization
C) branch environment of the organization
D) a regional environment of the organization
E) + external environment of the organization, the internal environment of the organization

159.Suschestvuet four types of alternatives:
A) growth
B) an introduction to the market
C) reduced
D) decline
E) + decline in the growth, the introduction into the market, reducing

160.Kakoe plan covers a period of several weeks or months?
A) short-term
B) long-term
C) medium
D) + operational
E) financial

161. The system of state influence on the economy of connecting with long-term forecasting of numerical control - it ...
A) Planning
B) Strategy
C) + programming
D) Diversification
E) Program

162.Kakie programs are designed for a period of 3 to 5 years?
A) + long-term
B) short-term
C) target
D) medium
E) Multipurpose

163.Kakoy principle does not apply to the development of regional policy?
A) + variance
B) alternativeness
C) the production of
D) control
E) is a systemic

  
164. List the methods to reduce risk:
A) the liquidation, stock market, investment
B) + market, financial, government support
C) the technical, legal, organizational and economic
D) currency, interest, political
E) the liquidation, stock market, investment

165.Sovokupnost means by which the state seeks to direct development in the desired direction - it ...
A) financial programming tools
B) economic programming tools
C) Programming Tools Market
D) strategic programming tools
E) + public programming tools

166.Sovokupnost forms and methods of public health impact of social indicators of social development through budgetary, administrative and legislative levers - it ...
A) economic policies
B) the financial policy of the state
C) + Investment Policy of the State
D) social policy
E) is an innovative policy of the state

167. The management process is continuously evolving in its primary focus:
A) cycle;
B) resistance;
C) + dynamics;
D) impulsivity;
continuity

168. The approach to the management, distribution functions, powers and responsibilities to employees occupying different positions or positions in the apparatus is: 1
 A) + hardware approach
B) the process approach
C) management approach
D) an organizational approach
E) situational approach

169. A structure to implement specific functions on specific matters entrusted to experts:
A) linear experts;
B) + functional specialists;
C) is linear - functional specialists;
D) matrix;
E) project.

170.K what strategy the company uses when it wants to improve their product or make a new start, without changing the industry?
A) + a strategy of diversified growth
B) a strategy of concentrated growth
C) Reduction Strategy
D) integrated growth strategy
E) strategy to eliminate

171.V which case the strategy is implemented diversified growth?
A) + when the firm can not continue to grow in this market with this product in the industry
B) when the firm wants to improve their product or make a new start, changing the industry
C) when the firm is in a strong business
D) when the firm observes the downturn in the economy
E) when the firm can not work with suppliers

172.Perechislite types that relate to the reduction strategy:
A) The strategy of market development, product development strategy
B) horizontal diversification strategy, a strategy to strengthen market position
C) the current business, the markets for the ongoing business
D) a strategy of backward integration, the strategy of diversification konglomerativnoy
E) + strategy to eliminate the strategy of "harvest"

173.K what strategy the company uses when it is in a strong business?
A) The strategy of concentrated growth
B) a strategy of diversified growth
C) + integration strategy of growth
D) Reduction Strategy
E) strategy to eliminate
174.K individual expert assessments include:
A) The morphological method, similar to the method of focusing
B) The method of "commission" method of "brainstorming," Delphi technique
C) The method of moving average, exponential smoothing method
D) The method of historical analogies, the method of the tree of life, the method of cross-impact
E) + scripts, the method of "interview", analytical memoranda

175. Office of the suggestive, engage in the process of refining raw materials and semi-finished products received at the input to the organization, a product that the organization requires an environment is called:
A) + human resources management
B) management of the economy
 C) + production management
D) Supply Management
E) Sales Management

176. The composition and distribution organization in the organization of units, hierarchical chain of command of these units is called:
A) Model
 B) + structure
C) process
D) Schedule
E) style

177.Metody risk reduction in strategic planning:
A) + methods of expert estimates, the methods of regression analysis, a method of "brainstorming"
C) insurance, reinsurance, surety, bail, the distribution of risk
C) the method of exponential smoothing
D) Delphi technique
E) a guarantee

178. Analysis aimed at identifying those aspects in the activity of supplying the organization of various raw materials, intermediate goods, finance, etc., that determine the effectiveness of the organization is:
A) an analysis of competitors
B) analysis of the customer
C) analysis of the regulatory organization
D) an analysis of the technological component
 E) + Analysis of suppliers

179. Which of the two parameters depends on profits of the enterprise
A) From competition and inflation
B) + From the prices of products and production costs
C) from the demand and supply
D) from the tariff system and level control
E) from the pay and pension transfers

180. Costs of production and sales are
A) + valuation used in the production process, as well as the costs of its production and sales
B) The full amount of receipts from sales of marketable products, services and wealth
C) The amount of depreciation on the full restoration of basic production assets
D) The end result of industrial or business enterprises
E) Analysis of turnover of assets

181.V costs of production and sales of products includes the costs associated with:
A) The use of natural resources
B) The preparation and development of production
C) Training and retraining
E) provision of normal working conditions
E) + The use of natural resources. Training and development of production. Training and retraining of personnel. Ensuring the normal working conditions.

182. State revenue - is:
A) + system of economic relations, which is formed in the process of collection of funds coming into the ownership of the state to create the material basis of its functioning.
B) Special funds of budgetary institutions
C) Income auxiliary enterprises
D) The amount of tax due on a unit charge of the tax base
E) The lowest part of the property tax is wholly exempt from taxation.

183. Under free competition the price of products produced by enterprises, leveled ... How?
A) Mechanical
B) is physically
C) reducing the costs
D) Increase of fixed assets
E) + Automatically

184. Important for improving labor productivity has
A) Workplace
B) + Organization
C) The economy
D) Funding
E) Competition

185. For what benefits there arises the problem of determining the optimal value of purchased materials and supplies (FIND incorrect answer)?
A) The rent for warehouse space
B) Reduces costs associated with placing orders for products purchased
C) With the acceptance of purchased goods
D) With the control of the passage of bills
E) + rent for warehouse space. With control over the passage of bills

186. What salary is used where the number of products produced workers, independent of their individual efforts?
A) Work Payment
B) The moral charge
C) Payment Manual
D) + time payment
E) Piecework payments
 
187. The average cost growth or cost reduction per unit of output. Which costs are we talking about?
A) The costs of economic elements
B) Gross costs of the enterprise
C) Variable costs
D) + marginal cost
E) Fixed costs
 
188. Gross proceeds - is:
A) The set of product characteristics that lead to its suitability to satisfy certain requirements in accordance with its purpose
B) The increase in output of final products from the same amount of raw materials in the workplace
C) + Total amount of receipts from sales of marketable products, services and wealth
D) The quantity, measured by the ratio of the volume of products produced with the help of machines, the total volume of products
E) A comprehensive measure of the result of industrial and economic activity.
 
189. Gross profit - is:
A) The systematic collection of revenue for the products of the company, the proposed purchaser
B) The system of financial - economic relations on the purchase and sale transactions
Foreign currency
C) Investments in securities in stocks and bonds
D) + Part of the gross income of the enterprise which they have left over after deducting all expenses required
E) The cost of fixed assets of the company at market prices
 
190. Income - is:
A) + complex economic category, which operates in close collaboration with the finances. This is the result of certain activities related to the cost of funds
B) The difficult economic category, which operates in close collaboration with the finance
C) It is the result of certain activities related to the cost of funds
D) The budget program is the result of which directly affect the degree of achievement
E) There is no right answer
 
191. As a result, the distribution of the gross social product formed:
A) Initial state revenues
B) Primary income of individual enterprises
C) Primary income of business organizations
D) Income from government cost
E) + Primary income of the state. Primary income of individual enterprises. Primary income of business organizations.

192. How much income is a source of government revenue?
A) + Income from the state value
B) The material and the real income
C) Taxes
D) Investment in other countries
E) Loans

193. Depending on the organizational-legal forms of ownership registration state revenues consist of:
A) Revenues of state enterprises and organizations
B) The tax payments of the population
C) + Revenues of state enterprises and organizations. Tax payments of the population.
D) Revenue generated in the field of intangible
E) Income Tax private business sector

194. On methods of raising revenue are classified as:
A) + Centralized and decentralized
B) debt and equity
C) Ongoing and unrealizable
A) Gross and net
E) Current and current
 
195. Important for improving the productivity of labor is:
A) Workplace
In) Financing
C) The economy
D) + Production of
E) Competition
 
196. The reasons for the growth of the surplus product
A) + Increase in productivity
B) Cash resources
C) Tax levies
D) Stocks and Bonds
E) Material Resources

197. The main factors of growth of net income are:
A) Increase in labor productivity
B) Cost of material and financial resources for production
C) Improving the quality of products
D) Improved utilization of fixed and floating production facilities
E) + Increase in labor productivity. Savings of material and financial resources for production. Improving the quality of products. More efficient use of fixed and floating production facilities.

198. Gross income - is:
A) The amount of fixed and variable costs
B) + The indicator on the end result of industrial or business enterprises
C) A mixed form of income of large and small businesses
D) The set of tools used by people to achieve the desired profit
E) Price of labor involved in the production process.

199. Under the fixed costs to understand:
A) + amounts that do not depend directly on the size and structure of production, as well as from sales of products
B) The variable portion of indirect costs
C) Deductions Pension, health insurance as a percentage of wage employees
D) The economic elements of spent regardless of where they occur
E) Payments on loans within the established rates.

200. The costs include only ...
A) Gross expenditure
B) Fixed Assets
C) Depreciation
D) + Variable costs
E) Fixed costs.

201. Under the fixed costs to understand:
A) + amounts that do not depend directly on the size and structure of production, as well as from sales of products
B) The variable portion of indirect costs
C) Deductions Pension, health insurance as a percentage of wage employees
D) The economic elements of spent regardless of where they occur
E) Payments on loans within the prescribed rates

202. Costs, which continue to carry the company, despite the fact that the production and sale of products for some time to completely shut down
A) Other
B) + Residual
C) Start
D) Other costs
E) Finishing

203. Costs that arise from the resumption of production and sales?
A) Depreciation of fixed assets
B) + Production
C) Residual
D) Social
E) Start

204. Variable costs - is:
A) + costs, the total value of which depends directly on the volume of production and sales, as well as the structure of the costs of production and marketing of several products.
B) Direct costs
C) Characteristics of product quality
D) Links to business co-production of final products
E) The cost of production

205. The amount of fixed and variable costs of
 A) piecework payment
B) time wage
C) The payment of labor
D) Gross costs
E) marginal cost

206. In the group of the costs of cost items included: ... Choose the correct answer.
A) Materials
B) The fee for rental of premises
C) + Materials fee for rental of premises, Wages
A) Remuneration
E) Depreciation
 
207. Wages of workers and administrative staff?
A) Piecework payments
B) Income Tax
C) Payment of
D) + time payment
E) The pension transfers

208. Wages, enabling workers to achieve greater production - is:
A) + Piecework payment
B) Payment Specials
C) the desired payment
D) time payment
E) is a mixed payment
 

209. Compensation in cash value of wear, by the gradual transfer of value for the products during the period of regulatory services - is:
A) The residual value
B) The original value of fixed prices
C) Carrying amount
D) The present value of
E) + Depreciation and amortization
 
210.Kakoy income is the aggregate of all income?
A) + Total Revenues
B) Personal income
C) The aggregate public revenue
D) The National Income
E) Naturally the real income

Small businesses can?
A) fill the commodity market
B) + better meet the needs of the country's economy and population
C) to accelerate the introduction of simple scientific - technical achievements
D) expand the range and quality of services
E) the market

212. The financial business of
A) + banking, insurance, leasing, stock markets
B) banking, insurance, financial management
C) insurance, leasing, innovation, general management
D) the leasing, stock markets, innovation, financial management
E) banking
213. Consulting business activities
A) the overall management, administration, financial management, personnel management, innovation
B) the overall management, administration, marketing, information technology, scientific - technical
C) + general management, financial management, marketing, information technology, scientific - technical
D) the administration, marketing, information technology, scientific - technical
E) the overall management, administration, financial management, personnel management, marketing, information technology

214. Trading business activities
A) + sales, trade - the purchasing, trading - intermediary, the commodity exchanges
B) Trade, Commerce - purchasing, trading - brokerage, marketing
C) Trade, Commerce - purchasing, trading - intermediary, Innovation
D) trade, trade - the purchasing, trading - intermediary, the information
E) trade, trade - the purchasing, trading - intermediary and information technology.

215. Venture business is treated as a form of
A) technological innovations
B) tax innovations
C) financial innovations
D) + information innovations
E) technological innovation and tax innovations

216. Stages in the process making business decisions
A) analysis, problem identification, determination of selection criteria
B) development of alternatives, monitoring and evaluation
C) + analysis, problem identification, determination of selection criteria
  development of alternatives, monitoring and evaluation
D) managing the implementation, coordination of decisions
E) There is no correct answer.
 

217. The main ways to reduce the risk of the following
A) + involvement in the drafting of competent partners, associates, consultants, deep problem of pre-project related issues, forecasting of market demand for products and services, the division of risk between the parties, reserve funds to cover unforeseen expenses.
B) are brought to the drafting of competent partners, associates, consultants
C) a deep problem of pre-project related issues
D) predict the development of market demand for products and services
E) the division of risk between the parties, reserve funds to cover unforeseen expenses.

218. What determines the effectiveness of the employee?
A) an initiative of economic activity, at its own expense
B) from his efforts, its characteristics and capabilities of the evaluation of its role
C) from his efforts
D) from the evaluation of its role
E) + of his efforts, its characteristics and capabilities of the evaluation of its role, from his efforts, to assess its role
 

219. Due to what is pre-control with respect to human resources?
A) assessment of its role
B) through a careful analysis of business and professional skills and knowledge of human
C) by determining the level of education
D) by determining the length of service
E) + at the expense of a thorough analysis of business and professional skills and knowledge of man, by determining the level of education, by determining the length of service
 

220. Entrepreneurship - it?
A) proactive economic activity, at its own expense
B) economic activities of the initiative, at the expense of borrowed funds
C) economic activities of the initiative, obtaining favorable results and income
D) in the combination of economic activity
E) + proactive economic activities performed by the risk

221. The purpose of strategic planning is:
A) determination of the required number of manpower
B) analysis of the markets and the search for new and innovative solutions of problems
C) + determine the amount of finance and investment
D) view of marketing as a systematic process of mastering the market with strong results
E) konkurentoustoychivosti software company.

222. The purpose of operational planning is:
A) + software interconnection strategies.
B) long-term success in the market
C) the definition of markets to meet the future success of the marketing
D) identification of events leading up to the implementation of strategies
E) all of the above.
 
223. Strategic planning are characterized by:
A) long-term success in the market
B) + The degree of uncertainty
C) the definition of markets to meet the future success of the marketing
D) identification of events leading up to the implementation of strategies
E) all of the above.

224. Plan your activity - it is ...:
A) Forecasting the future state processes and determination of the probability of certain situations
B) + The process of qualitative, quantitative and temporal determination of future goals, means and methods of formation of the company and its management.
C) The specific rationale for the decisions and plans, forecasts,
D) Diagram of individual staff members
E) There are no right answers.

225. The plan is called .....
A) The methods and resources necessary for the further development of the organization
B) + Official document reflecting the forecasts of the organization
C) Analysis of sootvetvsviya new activities
D) The expansion and use of enterprise resource
E) Rules of costs of various resources

226. Basic methods of planning include
A) Optimal planning
B) Adaptive Planning
C) Long-term planning
D) Organizational planning
E) + Regulatory Planning

227. The main methods of planning include:
A) Balance Planning
B) + Optimal Planning
C) Long-term planning
D) The mathematical planning
E) Statistical Planning

228.Zadachi controlling:
A. Establishment of an information system to support management decision-making based on data received from the accounting, manufacturing and management accounting.
B. Planning of the company.
C. Operational control of all activities under the structural divisions and the organization as a whole.
D. Coordination of the management organization.
E. Establishment of an information system to support management decision-making based on data received from the accounting, manufacturing and management accounting. Planning for the enterprise. Operational control of all departments and the organization as a whole. Coordination of the management organization.

229. The main purpose of planning - ....
A) Exclusion of wrong decisions in the selection of personnel
B) Further development of existing forecasts, the organization
C) + Finding the optimal solution of problems facing the organization
D) optimization and implementation of existing plans
E) There are no right answers.
 
230. Strategic planning is designed to solve the following problems:
A) + market assessment and selection of the best target market segments
B) the development of key strategies
C) to define the necessary operational measures
D) the calculation of the expected results
E) all of the above
231. The essence of strategic planning is to:
A) the development of future schemes
B) develop a methodology for marketing
C) the study of market conditions
D) + all of the above
E) determining the cost of production.

232. An important step in strategic planning is:
A) awareness of the need to purchase goods
B) the definition of the weaknesses of the company
C) + selection of the target market
D) consulting with experts
E) a situational analysis.

233. In a saturated market of used goods pricing strategy based on:
A) pushing
B) Competition
C) + price leadership
D) demand
E) costs.

 234. What strategy should I use a firm oriented to reduce the risk:
A) concentrated marketing
B) differentiated marketing
C) undifferentiated marketing
D) + direct marketing
E) Commodity and differentiated marketing.
 
235. What is the growth strategy the company chooses, if she does not expect the existing marketing system?
A) integration development
B) + diversification development
C) an intensive development
D) the development of advanced
E) delayed development.

236. The main result of the impact of market strategy to profit (Porter on the model) is:
A) income from investments and cash flow
B) select the main link
C) a differentiated approach
D) + price controls
E) all of the above

237. The strategy of deep penetration of the market suggests?
A) expansion of an existing market
B) an increase in sales in new markets
C) + output with a new product to new markets
D) to bring new products to existing markets
E) Quantitative growth.

238. The main factors determining the cost estimates for planning are:
A) consumers
B) Government
C) Participants of sales channels
D) + cost of profits and sales.
E) competitors.

239. Which of the methods of development planning strategy can account for the effect of the situation in the industry?
A) model of Porter
B) + BCG matrix
C) model of the PIMS
D) a formal method
E) Ansoff Matrix.
 
240. What services does the Internet world?
A) + Socio-information, legal and information, domestic
B) produces a product
C) Services
D) The educational and practical
E) All answers are correct

241. SWOT-analysis - is:
A) an analysis of external factors
B) the internal and external analysis of the company
C) analysis of the strengths and weaknesses of the company
D) + internal analysis of the company
E) an analysis of strengths, weaknesses, opportunities and threats of the company.
 
242. If the firm operates in a rapidly developing industry, where he held a favorable position relative to competitors, it focuses on:
A) reorientation
B) + the natural development
C) curtailment of activities
D) expansion of
E) Quantitative growth.

243. The strategy, according to which the goods are given to new properties that make it more versatile, safe and comfortable, is the strategy:
A) improve the properties.
B) of external design
C) increasing the size of
D) + improve
E) Copy.


244. When deriving new product-market pricing strategy is used:
A) + «push»
B) «forcing»
C) diversification
D) «cherry-picking."
E) deep penetration into the market

245. Strategy Plan product - is:
A) saturation range
B) + expansion of the range of goods and services
C) segmentation of the market
D), or wholesale in small lots
E) changes in design.

246. Development of pricing strategy does not include any of the following steps:
A) develop pricing strategy
B) the implementation of pricing strategy
C) + goal setting, determination of pricing policy
D) the price adjustment
E) test marketing.

247. Sensitive to the price the market is characterized by the following type:
A) oligopoly
B) + pure competition
C) monopolistic competition
D) pure monopoly
E) pure monopoly and oligopoly.

248. The strategy of diversification - is:
A) + strategy aimed at expanding areas of the company with new directions.
B) expansion of the range of products
C) the saturation range of products
D) market share
E) expansion of the market segment.

249. The main stages of the development of marketing strategies are:
A) identification of current and alternative strategies to choose the optimal variant
B) an imitation of a successful competitor strategies
C) + analysis used previously by the choice of strategies and the best of them
D) all of the above is true
E) all of the above is not true.

250. The most important method of long-term and medium-term forecasting of markets is:
A) extrapolation, supplemented by expert opinion.
B) extrapolation
C) the mechanistic prediction
D) + economic-mathematical
E) the mechanistic prediction.

251. When fading out on the market a new product the company uses a unique strategy of "skimming", when sets the price:
A) dumping.
B) as competitors.
C) + average.
D) the minimum possible.
E) as possible.
 
252. The main object of strategic planning:
A) growth rate of sales of goods
B) strategic business units
C) + Development of a product or service
D) cash flows
E) channels of commodity circulation.

253. Criteria for effective planning:
A) well-balanced budget
B) Compatibility goals and objectives of short-, medium-and long-term plans
C) the profitability and target consumers
D) + a detailed and thorough analysis of the market
E) product range and pricing.
 

254. Which of these strategies (Porter on the model) allows to improve profitability at a small market share:
A) Leadership in Cost
B) + Diversification
C) treatment market
D) concentration in the segment
E) differentiation.
 

255. The strategy of the low cost of production is acceptable for firms:
A) + operating in emerging markets, the capacity is constantly increasing
B) producing a new, high-value items
C) operating in markets where capacity is not growing
D) working in overseas markets
E) working in local markets.

256. The strategy of differentiation - is:.
A) the creation of new products that meet the identified, potential needs ..
B) + build-up of products and due to this reduction in production costs and prices.
C) the sale of goods in various, differentiated prices.
D) the saturation of the product portfolio.
E) the expansion of activities.
 

257. Strategic marketing program the company consists of the following interrelated parts:
A) strategy, strategic business units of the firm.
B) the firm's growth strategy.
C) all of the above is true.
D) + goals of the firm.
E) all of the above is not true.
 

258. Evaluation of the internal environment the firm, as well as external opportunities and threats?
  A) SWUT
  In) + SWOT
  With) SWIT
  D) SWET
  E) SWYT

259.Protsess establish deviation from the values ​​and actions of people in economic activities, ie process for achieving strategic goals - it is:
A) + control
B) Planning
C) co-ordination
D) Promotion
E) disposal of

260. Control exercised prior to the actual work is called:
A) Current
B) the final
C) is effective
D) the final
E) + pre-

261.Otsenka and control strategy
A) + evaluation of the internal environment of the firm
B) a clear action plan to implement the strategy
C) is logically completing the process carried out in the strategic planning
D) a tool by which management decisions are grounded in economic activity
E) a set of procedures and solutions to help enterprises, a strategy

262. The analysis, which is an estimate of the internal environment of the firm, as well as external opportunities and threats?
A) SWUT
In) + SWOT
With) SWIT
D) SWET
E) SWYT
                                    
263. How many steps is SWOT-analysis
A) 3
B) 5
C) 4
A) 2
E) 6

264. The idea of ​​a strategy to reduce costs?
A) looking for opportunities to reduce costs and implementation of appropriate measures for cost reduction
B) in need of money receipt
C) + on the application of planning and management decisions, level of centralization
D) in the search for opportunities to reduce costs and implementation of appropriate measures for cost reduction in the need of money receipt for the application of planning and management decisions, level of centralization
E) conduct appropriate activities to reduce costs

265. Strategic controlling - it ...
A) + system to ensure effective strategic and tactical management through the application of accounting methods, analysis and control
B) the process by which the company carries out continuous self-assessment and compares himself with business leaders around the
C) part of the strategic analysis needed to better understand the micro-economic factors
D) the ratio of the delivered goods to the market to total market
E) return to the past experience
E) is a strategic

266. List the basic tools of controlling ...
A) GAP-analysis, financial analysis, sales analysis, comparative calculations
B) Morphological analysis, financial and accounting
C) Analysis of cross-influence regression analysis, expert analysis
D) + GAP-analysis, portfolio - an analysis
 E) calculation of profit margin, comparative calculations

        267. Management process, continuously changing in its primary focus:
A) cycle;
In) stability
C) + dynamics;
D) impulsivity;
 E) is continuous.

     268. Management, focusing attention on the relationship between the structure and functioning, and levels, the degree of centralization and decentralization in the allocation of functions, powers and responsibilities to employees holding different positions or positions in the apparatus is called:
      A) + hardware approach
      B) the process approach
      C) management approach
      D) an organizational approach
      E) situational approach

269. The concept of participatory governance based on the fact that:
               A) a person in the organization plays a minor role
B) a person in the organization motivates its other members
      C) + interested persons in the organization is involved in various corporate activities
      D) people in the organization stands by some individual characteristics
      E) is aimed at achieving personal goals

270. Analysis aimed at identifying those aspects in the activity of supplying the organization of various raw materials, intermediate goods, finance, etc., that determine the effectiveness of the organization is:
               A) an analysis of competitors
B) analysis of the customer
C) analysis of the regulatory organization
D) an analysis of the technological component
E) + competitor analysis, customer analysis, analysis of the legal regulation of the organization, analysis of the technological component

271. Scientific and technical development of production is:
      A) rhythmic execution of plans, assignments, contracts and commitments for the production and delivery of products;
      B) to ensure continued compliance with technical standards, quality, developed and manufactured products;
      C) increase the level of production organization and management;
      D) + improved production and technical facilities in accordance with the latest achievements of science, engineering and technology;
      E) elevation and maintenance of a balanced use of all resources, improving and maintaining their quality.

272.Obedinenie capital, requiring a charter and the charter capital, and the statute in which the members bear the risk of loss in the amount of their deposits, they are:
A) a business partnership in the form of planned
B) + a business entity with limited or additional liability
C) Production Cooperative
D) consumer cooperative
E) social and religious organizations

273.Biznes is:
A) The specific final states, or desired results that the team wants to achieve
B) business, occupation, related to personal gain
C) activities associated with the implementation of market operations, exchange of goods and services between economic actors
D) + business, occupation, associated with personal gain, activity related to the implementation of market operations, exchange of goods and services between economic actors
 E) making a profit.

274.Alternativa, ie the need to choose between the two, or the use of mutually exclusive decisions is:
A) organizational solutions
B) + decision
C)-programmed solutions
D) Unprogrammed solutions
E), intuitive solutions

275. Enterprises, organizations are:
A) subject to control
B) + object control
C) the current control
D) the preliminary control
E) the final control

276.Kakoy kind of plan is developed at the level of middle management:
      A) indicative;
      B) current;
      C) strategic;
      A) +-house;
      E) of five.

277. What are the main factors of the internal environment of the organization:
      A) the objectives, resources, values, skills, group;
      B) technology, resources, people, structure and purpose;
      C) + people, tasks, structure, goals, technology;
      D) values, goals, team goals, technology;
      E) Planning

278.Protsess establish deviation from the values ​​and actions of people in economic activities, ie process for achieving strategic goals - it is:
A) + control
B) Planning
C) co-ordination
A) stimulation
E) disposal of

279. Risk - is:
A) the degree of certainty with which the objectives of the organization forecast
B) the degree of certainty with which the problem of predicting
C) + degree of certainty with which the predicted results
D) the degree of certainty with which predict a mission
E) the degree of certainty with which the forecast strategy

280.Kontrol exercised prior to the actual work is called:
A) Current
B) the final
C) + effective
D) the final
E) pre-

         281. Risk classification by reason of:
A) due to
B) the uncertainty of the future
C) the unpredictability of the behavior of partners
D) lack of information
E) + due to the uncertainties of the future, the unpredictability of the behavior of partners, lack of information

282. What is the main control functions:
A) to ensure achievement of objectives;
B) + coordination and motivation to work;
C) the timely planning and management;
D) identification of problems and correcting deviations;
E) Coordination
 
        283. With respect to what is pre-inspection:
A) with respect to competitors;
B) with respect to the external environment of the organization;
C) with respect to the suppliers;
D) with respect to potential consumers;
E) + with respect to the resources of the organization.
 
284. What kind of information should get a manual before starting the development of corporate planning:
A) on suppliers, competitors, the consumer;
B) + of the internal environment of the organization, the organization of the external environment, the political situation;
C) on the state of the economy, the political situation of the NTP;
D) organization of the external environment, competitors, the internal environment of the organization;
E) on the resources of the suppliers, competitors.
 
285.K main factors of the environment directly impacts include:
A) the effect of group interests, vendors, people, NTP, competitors;
B) the state of the economy, political factors, laws, consumers, competitors;
C) + suppliers, customers, competitors, laws and institutions of government regulation;
D) sociocultural factors, NTP, economic conditions, political factors;
E) the laws and institutions of government regulation, socio-cultural factors, the state of the economy.
 
286. What level of management ensures the continuity of the production process:
A) higher;
B) Management;
C) + grass roots;
D) the average;
E) institutional.
 
287.Kommunikatsionny process is:
A) the sender encoding, receiver decoding;
B) + the birth of ideas, coding, channel selection, transmission, decoding;
C) the sender, channel selection, the birth of ideas, transmission, decoding;
D) the birth of ideas, choice of channel coding, channel, receiver;
E) the birth of ideas, the channel, the message recipient.

288. Under the indirect impact of the environment means:
A) the factors that directly affect the operations of the organization, and have a direct impact on the operations of the organization;
B) the factors that directly affect the operations of the organization, and suffer the indirect effects of the operation of the organization;
C) + factors, which may not have a direct immediate impact on the operations of the organization, but nevertheless affect them;
D) factors that may not have a direct immediate impact on the operations of the organization, but have a direct impact on the operations of the organization;
E) factors that affect the operation of the organization.
 
289. What level of management searches for options to improve the efficiency of the organization:
A) + higher;
B) Management;
C) Technology;
D) the average;
E) downstream.
 
290. The principal characteristics of the environment in strategic management include:
A) mobility, variability, transience, difficulty;
B) uncertainty, interconnectedness, transience, variability;
C) interconnectedness, interdependence, complexity and uncertainty;
D) interdependence, uncertainty, transience, difficulty;
E) + complexity, mobility, uncertainty, interconnectedness.
291. What levels of management:
A) Technical, grassroots, management;
B) the average, low-level, technical;
C) the administrative, institutional, middle;
7. D) + medium, low-level, the highest;
Eight. E) low-level, intermediate, technical.

292. The economy is based
   a). + Company
   B). Production
   in). Consumption
   g). Change
   e). Information

293. What can not be without production?
   a). + Management
   B). A full partnership
   in). State
   g). Consumption
   e). Status of legal entity

294. The essence of the enterprise
   a). + The economic entity established in accordance with applicable
        legislation
   B). This is expressed in monetary terms of the social product
   in). This is the most common approaches to solving problems
   g). This analysis, implementation and monitoring of the activities of currency exchange
   e). Income received during the billing period
295. The ultimate goal of the company
   a). License
   B). Patent
   in). Costs
   g). Wages
   e). + Income

296. Violent - it ...
   a). A large enterprise producing a certain type of product
   B). The effectiveness of capital
   in). Authorized capital
   g). The scale of production
   e). Enterprise profits

297. Commutant - it ...
   a). The amount of earnings
   B). The ratio of formation of
   in). Volume of production
   g). The growth of labor productivity
   e). Small company with mass production

298. Pat - it ...
   a). Basic payroll
   B). Plant for the production of essential products
   in). The number of goods and services
   g). Compensation of employees working
   e). the formation of

299. Production, trade, transportation and agricultural businesses have the following membership:
   a). + Territorial
   B). State
   in). Industry
   g). Budget
   e). Expenditure

300. What is a degree of production mechanization and automation
    production?
   a). + The complex automated production
   B). Partially automated production
   in). Manual production
   g). Complex-mechanized production
   e). All of the above

301. Specializations are divided into the following levels:
   a). State and mechanical
   B). Territorial and State
   in). + Special, mixed and universal
   g). Industry and agriculture
   e). Public and mixed

302. Limited liability - is ...
   a). The Company is a distinctive feature in the
        failure of the property.
   B). + It is a kind of a general partnership
   in). Established by one or several persons
   g). Mass production of large enterprise
   e). All answers are correct

303. The company - is ...
   a). A pronounced feature of the enterprise
   B). Venture capital company
   in). Subsidiary
   g). This is a set of economic units.
   e). + This is a society, capital is divided into shares

304. Production Cooperative - is ...
   a). This is a company with a high degree of volatility and risk
   B). + This is a voluntary association of citizens to work together
   in). A wide range of products
   g). Integrated Production
   e). This is the ratio of liquid assets

305. Unitary Enterprise - is ...
   a). + Commercial organizations are not endowed with the ownership of the
        assigned to it by the owner of the property
   B). This ratio is the number of different categories of workers
   in). This is the number of employees
   g). An independent company
   e). This set of state standards

306. The joint venture - it ...
   a). + Company established on the basis of domestic and foreign
        capital
   B). The company, which cooperates with other enterprises
   in). Enterprise engaged in the production of a certain kind of
        Product
   g). The two companies combined
   e). An enterprise with foreign workers

307. Charter of the company - is ...
   a). This stipulation Events
   B). It is the capital of the owner
   in). This is the legal status of the new enterprise
   g). This is the name under which the company acts
        economic activity
   e). + This is a general program of action

308. Causes of the modern enterprise of controlling:
A) increase in volatility raises the external environment;
B) shift from the last control on the analysis of the future;
C) responses to environmental changes;
D) increase the flexibility of the enterprise;
the need for continuous monitoring of changes
occurring in the external and internal environments of the enterprise;
E) + increase in volatility raises the external environment, a shift from the last control on the analysis of the future; response to environmental changes;
 increase the flexibility of the enterprise; the need for continuous monitoring of changes in the external and internal environments of the enterprise;

308. Closed Joint Stock Company:
   a). + Shareholders may dispose of the shares without the consent of the
        other shareholders
   B). Shareholders, who are responsible for the obligations of their contributions to the
          Fund established
   in). This is the most simple form of private enterprise
   g). It shares that manage only among the founders
   e). People who have invested their funds shall be responsible for
         Commitments

309. The main content of the financial policy of the company - is ...
   a). + Investment Solutions
   B). Government solutions
   in). Tax and Financial Solutions
   g). Public and financial decisions
   e). Budget and tax solutions

310. Borrowed funds - it ...
   a). Commercial and Bank Lending
   B). Bank lending
   in). Project loan
   g). Discount of bills
   e). + Loans secured by bills of exchange

311. The document, which reflects the amount of income and expenditure of funds - it ...
   a). Business plan
   B). Contract
   a.) + financial plan of the enterprise
   g). Future planning
   e). Act

312. Two of the optimal capital structure:
   a). Statutory and debt capital
   B). Equity capital and the state
   in). State and borrowing
   g). + Equity and debt capital
   e). Budget and debt capital

313. The main function of controlling:
A. Collecting and processing information on the different "tiers" of the system of management, necessary for management decision-making and planning activities of the organization;
B. Formation of strategic and operational planning and searching for the process; + C. Collecting and processing information on the different "tiers" of the system of management, necessary for management decision-making and planning activities of the organization, formation of strategic and operational planning and information search for this process; D. Issue the best product
E. Improve the means of production

314. Controlling as a management tool now includes:
A. The coordination of management activities to achieve goals;
B. Development of methods for monitoring the implementation of plans (budgets);
C. Maintenance of monitoring the implementation of plans (budgets);
D. The collection, processing of information during and after implementation of the plan, its analysis and provide the leadership organization for the decision-making.
+ E. The coordination of management activities to achieve
goals, development of methods for monitoring the implementation of plans (budgets) Maintain control of the plans (budgets), collection, processing of information during and after implementation of the plan, its analysis and provide the leadership organization for the decision-making. Ensuring rationality of the management process.

315. Loans and borrowings - it ...
   a). Permanent liabilities
   B). Current liabilities
   in). The most liquid assets
   g). Illiquid assets
   e). + Long-term liabilities

316.Finansovoe solution is. . .
   a). + The decision on funding sources of a business
   B). Decisions about the proper operability company
   in). The decision to invest money
   g). The decision to use money
   e). Council investing money in the right

317. Eksplerent - it ...
   a). + venture with a degree of volatility and risk
   B). Medium-sized Enterprise
   in). Mass production of the product
   g). The company with the serial production
   e). This is a public entity

318.Znachenie financial planning
   a). + The proper function of money
   B). Embodies the goals in the form of fin. indicators
   in). Financial Planning Work
   g). Extracting useful information
   e). Profitable investment

319. Problems solved with the help of financial planning:
   a). + Provide financial resources
   B). efficiency of capital investment
   in). Assessment of capital
   g). Control of Fin. of
   e). All of the above

320. The main objective of private enterprise:
   a). + Profit
   B). Help the State
   in). Help the citizens of
   g). Removing the other benefit
   e). All of the above

321. Production is ...
A + link in the enterprise, which creates the final product
B. a system of economic relations
B. a set of managerial tools
G. Development of plans
D. No right answer

322. Production structure consists of the steps ...:

A production plant, services, commodities
B. labor, production facility, budget, production
W. production, plant, labor, wages
G. + production, workshop, production facility, a workplace
D. Answers A and B are true

323. The organization of production is ...
A set of labor processes that result in materials are transformed into finished products
B. a set of organizational, technical and economic characteristics
R + the set of methods that provide the most appropriate use of funds in time of labor
G. set of management tools to achieve goals
D. All the answers are correct

324. The production process is ...

A set of interrelated processes that ensure the readiness of pre-release product, I
B + a set of work processes, resulting in the materials are transformed into finished products
          V.sovokupnost properties of products
          G. impact on workers in order to achieve the goals of the pre-Thieme
          D. No right answer

325. The combination is ...

A simple construction of the structure
B + connection of different industries
B. concentration of power at the control level
Mr. Neu ¬ economic management activities
D. All the answers are correct

326. Production is:

A + mass, single, batch
B.tovarnoe, serial
V.kombinirovannoe, large-scale
G.nepreryvnoe, single, batch
D. Answers B and D are correct

327. A single production includes:

A clear structure of management activities
B. Simultaneous production of a wide range of parties
R + piece they produced a diverse range of
D. Issue a small range in large numbers
D. No right answer

328. Factory production concentration is expressed by:
AA + to increase the size of enterprises
B. in the creation of production associations
B. in the preparation process
D. an increase in unit power equipment
D. in the preparation of design

329. The industrial structure of the enterprise is ...

A combination of elements of the labor process
B + set of production units of the enterprise (shops, offices) included in its composition and form links between them
B. part of the process
G. operations across the main production units (enterprises, companies)
D. All the answers are correct

330. Type of production is ..

A. an effective form of social division of labor
B. separation of the production process of manufacturing of similar products between the individual units of the company
B. Concentration performance of production operations for the production of technologically similar products
G. + a set of organizational, technical and economic characteristics
D. Answers B and D are correct

331. The production cycle is ..

A + calendar period of time during which the material being processed is the subject of all the operations of the production process
B. the process of reproduction of material wealth and industrial relations
B. a set of managerial tools
The volume of production for the year
D. No right answer

332. The main production processes is ..

A. processes that ensure the uninterrupted flow of all processes
B. Processes of investments
B. processes associated with service support processes
G. + processes that result in altered form, size, features items of work
D. All the answers are correct


333. 3 levels of the organization of production:

A harvesting, processing, collection
B + organizing process in the workplace, intrashop, interdepartmental organization
B. Procurement, intrashop organization, collection
G. There is no correct answer
DA processes of the organization, implementation

334. The production capacity reflects:

A + industrial relations in order to use an organized collection of the most active form of labor
B. concentration of production of similar products in specialized enterprises
B. the amount of output per year
G. share of production, falling an average of one enterprise.
D. activities of the company

335. Individual production is ...

A + activity across the main production units (enterprises, companies)
B. a set of organizational, technical and economic characteristics
V. combination raznootraslevyh companies
G. set of management tools
D. No right answer

336. Social production of meaning ...

A. an increase in unit power equipment
B. Gross income of the firm
R + system ¬ mu production ties between enterprises
G. merging two or more companies engaged in the production of one
D. Answers A and B are true

337. Technical preparation of production is ..

A + processes that ensure the readiness of the design before, I'm issuing a new product
BI processes that result in altered form, size, features items of work
B. This is a test of conformity of products or processes
G. is the concentration of the means of production and labor
D. All the answers are correct

338. The first stage of technological preparation of production is ..

A preparation of design
B. Technology Training
V. + research training
G. organizational preparation
D. exchange transaction system

339. Production resources are ...

A working, borrowed, time
B + natural, material, labor, financial
B. Combined, the technical, human
G. liquid, material, land
D. liquid, workers, technical

340. Means of labor include:

A.orudiya production and material resources
BI + tools of production, land, buildings, vehicles
V. buildings and structures, the system of machines
H. correct answer A and B
D. land management unit

341. The following types of products:

A hand-and machine-
B. unit, serial
R + parts, assembly units, systems and kits
G. There is no correct answer
D. Details, machine


342. The process of concentration is characterized by:

A + increase in the industry and the growing share of large enterprises in total output of products grown
B. coefficient of specialization
B. structural complexity
G. indicators of the results of production - economic activities of pre-I
D. All the answers are correct

343. Mass production involves:

A. Organization offices on the basis of product
B + simultaneous production of a wide range of parties
B. the optimal number of stages and links
G. piece they produced a diverse range of
D. Answers A and D are correct

344. Horizontal integration - it ...

A combination of companies raznootraslevyh
B. Production Regulatory Area
W. production area shop
G. + merging two or more companies engaged in the production of one
D. No right answer

345. The essence of the concentration of production is:

A unit of production capacity
B + in enlarging the size of enterprises, and the distribution of the total manufacturing industry between companies of different sizes
B. to reduce idle time
G. There is no correct answer.
D. in the trade and brokering


346. Three main factors of production:

A research, development, capital
B. reliability, quality, standard
B. + land, capital, labor
H. Land, the administrative apparatus, Capital
D. No right answer

347. Specialization of production is:

A sketch project
BA + effective form of social division of labor
B. Methods of Control
G. technical means of control
D. Answers A and D are correct

348.Chto is the goal of business organizations?
A) Loss
B) to raise funds
C) investment
D) + profit
E) foreign investment

349.Vyberite the right direction, which is used for the analysis of strategic data bases:
A) the internal environment of the organization
B) the central environment of the organization
C) branch environment of the organization
D) a regional environment of the organization
E) + external environment of the organization

350.Suschestvuet four types of alternatives:
A) growth
B) an introduction to the market
C) reduced
D) decline
E) + decline in the growth, the introduction into the market, reducing

351. List the methods to reduce risk:
A) the liquidation, stock market, investment
B) + market, financial, government support
C) the technical, legal, organizational and economic
D) currency, interest, political
E) the liquidation, stock market, investment

352.Sovokupnost means by which the state seeks to direct development in the desired direction - it ...
A) financial programming tools
B) economic programming tools
C) Programming Tools Market
D) strategic programming tools
E) + public programming tools


353.Sovokupnost forms and methods of public health impact of social indicators of social development through budgetary, administrative and legislative levers - it ...
A) economic policies
B) the financial policy of the state
C) + Investment Policy of the State
D) social policy
E) is an innovative policy of the state

354. What salary is used where the number of products produced workers, independent of their individual efforts?
A) Work Payment
B) The moral charge
C) Payment Manual
D) + time payment
E) Piecework payments

356. Gross proceeds - is:
A) The set of product characteristics that lead to its suitability to satisfy certain requirements in accordance with its purpose
B) The increase in output of final products from the same amount of raw materials in the workplace
C) + Total amount of receipts from sales of marketable products, services and wealth
D) The quantity, measured by the ratio of the volume of products produced with the help of machines, the total volume of products
E) A comprehensive measure of the result of industrial and economic activity.

357.Kak is a tool by which management decisions are grounded in economic activity?
A) the development of strategic planning
B) Analysis of strategic planning
C) + Method of Strategic Planning
D) the strategic planning process
E) Coordination and regulation

358. The main factors of growth of net income are:
A) Increase in labor productivity
B) Cost of material and financial resources for production
C) Improving the quality of products
D) Improved utilization of fixed and floating production facilities
E) + Improved productivity, saving material and financial resources for production, improve product quality, more efficient use of fixed and floating production facilities

359. The need to reduce the number of employees within the firm may be caused by:
A) a fall in demand for the products of the company;
B) the rationalization of production, reducing labor costs;
C) errors in the selection of managerial personnel;
D) increased interest in the fulfillment of employees;
E) + drop in demand for the company, streamlining production, reducing labor costs, administrative errors in the selection of staff;
 
360. Transfers - is:
A) Reimbursement of losses and ensuring security of supply companies
B) Reimbursement of the productive forces and improving the proportions in the economy
B) Specific documents - individual financing plans
D) gratuitous and irrevocable transfer of funds for their redistribution to finance the specific needs of the budget and extrabudgetary funds
D) There is no right answer
E) Machines for the production of cash

